N of reco track vs dxy N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

9] 1%} 123 0
= 3 2 g
8 8 g g
B 2 2 e
104 E 8 10t 8
o
=]
o
10°
10°
o w-fii
E:
IIHI ~‘”~ T LR T =
”” LF;_"‘.?\ i w‘ 'F‘ ‘
" : hiEe i ‘
0,951l gl 11 ”u | A 7'1I i
9 5-20-15-10 5 0510 15 20 25 5‘25201510 0 5 10 15 20 25 52520151050510152025
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
[N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
2] 1%} 2] 0
3 2 2 g R
8 g g 8
[ (0] Q
E s 10° g
o
=3
o
10°E
: 10 -
i ° g wv 9
1 I I © ©
* @ 24 @
13 20 30 0¥ 20 -10 0 10 20 30 O¥5 20 -0 0 10 20 30 %5020 —10 o 3'0

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


